
1. Tom went to the shop. He bought 
a pen for 23p and some chocolate for 
45p. How much did he spend? 

1. Tom had £1. He went to the shop. He 
bought a pen for 23p. How much did he have 
left? 

2. Bill went to the shop. He bought a 
birthday card for 74p and some sweets 
for 25p. How much did he spend? 

2. Bill had £1. He went to the shop. He 
bought a birthday card for 74p. How 
much change did the shopkeeper give 
him? 

3. Pat went to the shop. He bought an ice-cream 
for 84p and a pencil for 28p. How much did he 
spend? 



3. Pat had £1. He went to the shop. He bought a 
pair of socks  for 88p. How much did he have 
left? 

4. Jan had £1. She went to the shop. She 
bought a hat for 95p. How much change did 
she get from the shopkeeper? 

5. Josh went to the shop. He bought a drink 
for 75p and a box of doughnuts for £1.20. 
How much did he spend? 

5. Josh had £1. He went to the shop. 
He bought a torch for 75p and a rub-
ber for 15p. How much did he spend? 
How much did he have left? 


